Cross section (barns)

D IN ORTHO AT 19K ENDF/B-VII
Thermal cross sections

10*

inelastic

10

11

1010 107 10°®
Energy (MeV)

107’

107




Mubar

-200 —

D IN ORTHO AT 19K ENDF/B-VII
Thermal mubar

500 | | | I | II
*107

400 —
300
200

100 —

O_

100 — — Inelastic

10t 1010 107 10°®
Energy (MeV)

'300 I I IIIIIII I I IIIIIII I I IIIIIII I I IIIIIII

107’

107°




Ebar (MeV)

D IN ORTHO AT 19K ENDF/B-VII
Thermal ebar

IIII
10_6—:
107" =
1078 =
Inelastic
107 —
11 I I IIIIIII:L0 IIII9 IIIII8 I I IIIIIII7 I I IIIIIII6
10 10 10 10 10 10

Energy (MeV)




JlISe|aul [ewlay)
Ard/4ANd M6T 1V OH1dO NI d




] §
(=
Ve —,
‘\:r:\
o
I —,
Ll /
> [
el
e = 4/
LL 1 7= 7
A 7/
S 4 /
LL \
S
— ' X~
|— \
O @ \
T o \\
= c
o — < < <
OGC o, T =
Z c% NSNNNEN
ag=




\/

D IN ORTHO AT 19K ENDF/B

thermal inelastic

[
A
V

NS S\N




\/

»

D IN ORTHO AT 19K ENDF/

thermal inelastic

NSNS




!
SANSNANNNNEN

J210°T =9 10} dnse[aul [ewiay)
Ard/d4AdNd M6T 1V OHLHO NI d




\/

EF08 Me

= 1.4

SANSNANNNNEN

D IN ORTHO AT 19K ENDF/B

thermal inelastic for e




= 9.000E-08 Me

D IN ORTHO AT 19K ENDF/B

thermal inelastic for e

SANSNANNNNEN




%%//////// i

Pa
< ¢,

-

.\.m/Ohv

<o
4£20°G =o 10] JljSe|aul |[ewll
d/4AdN3d M6T 1V OHL




an

0

ANe

Z <t

< b

O — @

— O Q -§

= o / g

<= /\ N\ o O
7]

o 2 [ /s

— N\

o_ — < < = N Q

O g = Ta o= Y

Z = SN\

g




